Physics 11 U1 Kinematics Review Sheet

Name:

Show all your work, even write yourself some notes on your work, little mental reminders of
what you are doing.

1. The frequency of a pendulum is 25 Hz. What is the period?
- / - - ' % ‘
=G T s

2. A pendulum swings 9 times in 31 seconds. Find the period and the frequency.

7o e - 3qimc F-L . 0.270 He:

- T

q evw.

3. If a spark timer is set at 10 Hz how many dots does is make in 1 second? 4%

4. A car travels at 120 km/hr for 38 mins. How far does it go?

Sk Jevd=(a0)(67) = T

5. If a car travels 457 km at a speed of 124 km/hr how long does it take?

J[«,o? - Y5T - 2.9 s

—

V 131

6. A car travels at 14 m/s for 122 seconds and then at 28m/s for 56 seconds.
a) What is the total distance covered for the entire trip?

H pt .
e V= ()23~ 1708 iyt - @(s8) /565
| Oy = 1708+ 1568~ 3376 m

b) What was the average speed for the entire trip?

M \/m/é/: oo 23T _ (8§ Ym

ST R

for 176
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7. A runner travels 1500m in 190 seconds and then travels 1000 m in 133 seconds.

Calculate the average velocity.

dTéT = 45> M \/]({Vk~ aseo = 7"'717’/"[7’

T p————

323

8. A cop times your car and finds that your car takes 4.6 seconds to cover 150m. Are you
speeding if the limit is 90 km/hr? Is the cop measuring your average or instantaneous

speed? .
\/:g = 152 _ 3 mf = 1 /t’m/(f - %m oz 5/'%2%/{‘7_
1 Y.b ﬁ
sz.é

W x Ov\)j WLO&(J‘!B i ﬂowf VG( o el .4,/0@ ﬁ%@ /W/r/m/

n a&(ﬂ u/l, ,5{6{
¢ ipst. vel ™ over q 5’/‘6/“/ fime ik i M\? (
I ve
9. Convert the following. Show the full conversion. ‘

20 m/s = km/hr

Wy ) 3e0gc | _ 74 Km///l/.-
O [ hr 1 0O0OM

120 km/hr = m/s

14 he .
D Km _oodm i < 333 M/
13 X{» X [ Hm Bboo sl

10. Identify the correct number of sigfigs.
a) 2001 _ 4 b) 2665 ¥ c)0.201 _3 d)200 !

11. Find the final velocity of a car if it accelerates at 2.3 m/s? for 11.1 seconds and starts at 2

m/s
\p=VitaT = 34 G (1) =375 mfs
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12. A truck crashes into a hedge and de-accelerates at 31 m/s?. The truck is originally going
100 km/hr. = 273 mff —
a) How long does it take the truck to stop (time)? \g=0 \);= 47 T a=-3 1=

Ve=V; +at
eV t= QAT - 0.996 sec
L—\—/%( al -3 »
b) What distance does the truck travel while stopping?

d=vit + fat = GF.37) (.39608) +% (-3) (876t
Jd=13dm

13. a) The slope of a distance vs time graphis ... d/-f = vel

d

b) The slope of a velcity vs time graph is... (i¥e _ el —
) p y grap = o W acleel.

c) Draw a distance vs time graph that represents a car hitting a brick wall.

L

L hits wall here

d) Draw a velocity vs time graph that represents a car travelling at a constant speed.

t

14. A runner accelerates from rest at a rate of 1.9 m/s2. How long does the runner take to
reach her top speed of 6.2m/s?

V=V + ot

Vi-Vi =f= @3- = 3.4
— 1.9
a
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15. A dragster accelerates from rest for 14.1 seconds at 10.4 m/s?.
How far does the dragster go?

) . q
d= Vit +4att ~©@D + Y (o)1) = 1034 m,

How fast is the dragster going at the end?

Ve =\itat= O+ @‘LD (4D = '%M/y\% fiel drurbr o
, p Tue T oly

16. How long does it take a rock to fall from a 243 m cliff?

_‘___,,\W ¥ 0"\fj wer s when \/"J;O
A

';W - + 04 se
a.¥

17. Construct a graph with the equation of

v=(4m/s)t + 3m/s :
Sep  aMacked j%t /%W
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18. A ball is kicked at 32 m/s at an angle of 25 degrees above the horizontal.

Iy - 22 smas= 1 3.5 mip
An Vy
5 R
a) Find Vx and Vy. Vy = 3% cos 35 = 39,003 myy—.

. . » iqht.
b) Find velocity at the very top of the flight V\f O Vy= 24.00 Amp
c¢) Find flight time

d) Find max height

e) Find range, horizontal distance traveled

OPVp=Vi+at @y Vero

+= .35 sec

dt) f m \/—fla V}L-F Qﬂ&( -9 /\&"IL fre d’vf7 Wiy 7o Wﬂ/
o= éﬁg.ﬂ@QJr 3(«49 A

d= 1.33m,

“— |
6> O = \}x-‘lL = éﬁ.OOQ)C/,}y_ = H0.0m

Page 5 of 6 P11 U1 Review Sheet



I

19. A ball is launched at 20 m/s at an angle of 30 degrees above the horizon but its flight is
interrupted by a tall wall at a distance of 6 m.

,;\Oﬂ‘lj'

30’

~—— o

~a) Find Vx and Vy.
V= 1733 m V= 10m/5

b) Find the time it takes to cover the 6m to the wall.

b t=9d -6 = 0.3Ybsec.
\% 17321 '

c) Find the height of the ball when it hits the wall. (This one is tricky so don't fret if you do not
get it)

i Ol':\/HL t }@@%L .
. @o}(o.z%) + %6“7@(3‘@ = A8Tnt
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